ex Di e 3/4 * LSo\M-Q what M\.\M (n Corumon ...

By-y = - X 0)=

J ~ 5 x(x-4) =o
LlY‘b( *‘l) =-| X= 0 \ X=14 # Subst £ Solve
By ~ XA = 7 for ¢

I
ex3 =§::) )
| )Zk% -"’\lx —» (K’B) "'(Z)c-—yx QV‘\-Q_-‘ZX_,X * b+ (=0
— (X4etNd)zo —» x=-3: y=(l3)3=-C:
B .=
Y= ~alyrd)
W= y-3b = YRy 13k =o — (w,) o= Y=k,

XY= — .f],\: Len
{Xéﬂ Lfo""X"‘()—‘(b—vX*-—-i = Yo

X + M= qox" = X oy = -—o—-véc- %X)c’-'—‘f )=0

oDl (o), (2,0) (310)




w-my

L_so=o—» U"—zr:o
--(o, S) é(o' —5’)

"4- Oy 425
(wé%kﬁ

Hw: PTH) #2—\8 even




